Y

D 6,4

M8

184

40

xallo

f Wiper Technologies

e sbuAdor®

Scale: 1 : 2

UNLESS OTHERWISE SPECIFIED: DIMENSIONS ARE IN MILLIMETERS

0.5 0.5 mO.S 0.5 ZO.S VRaS.Z

ANGLES IN DEGREES - TOLERANCES +0.2mm +0.5° - BREAK ALL EDGES

Wiper Drive unit 24V WD<20

Drawn by : MB

Part No./Note : XA2166.30 - 223BD

Drawn date : 23-5-2018

Customer

Checked by :IM

Reference

Sheet : 1-2

Modified by

Weight inkg :2.38

Modified date :

Material : Material <not specified>




-l
2]

\N

1 Wipe arc plate 2100.930 1.0037 (S235JR) 0.269

2 Nut M20 x 1 mm 2100.350 1.4401 - SS316 0.016

1 Liner M20x1mm 2100.326 Brass 0.092

1 Nyloc nut M8 2100.071 1.4401 - SS316 0.007

1 Motor 24Volt 25Nm 2100.025024 - 1.150

1 SS Washer M8 DIN125 2100.691 1.4401 - SS316 0.002

1 Hexagon bolt M8 x 30 mm 0933140080030 1.4401 - SS316 0.018

2 Nut M8 2100.760 1.4401 - SS316 0.003

1 Wiper spindle Bulkhead fitting= 4 2100.364_A 1.4401 - SS316 0.125

1 Circlip @6 2197.097 1.4401 - SS316 0.000

1 Nut M10 sw13 2100.354 1.4401 - SS316 0.004

2 PA6.6 bearing@8x10x10 2100.926 PA66 - GF30 0.000

1 Leverpin @8mm 2100.920 1.4401 - SS316 0.013

1 Wishoekschijf sticker 2100.931 PE High Density 0.000

1 Weathercap M20 2100.361 Rubber 0.005

9| 3 nut M8 2100.460 1.4401 - SS316 0.005
8 2 Coverplate Nitril 223BS 50mm 2100.491 NBR 0.006
711 Cover plate SS 223BS 50mm 2100.481 1.4401 - SS316 0.050
6 | 1 | Idler spindle M8, Bulkhead fitting= 20mm 2100.446 1.4401 - SS316 0.025
511 Dogbone (85mm) 2100.936 - 0.050
4|1 circlip @12 2100.410 1.4401 - SS316 0.000
3|2 Washer @12x18x1mm 2100.400 1.4401 - SS316 0.001
2|3 SS Flathead bolt M6x16 2100.050 1.4401 - SS316 0.005
1 1 Housing 223 Bored @17mm 2100.104 1.0037 (S235]R) passivated | 0.488
Pos.| Qty Description PartNo Material Weight

Exallo

f Wiper Technologies

e sbuAdor®

Do

Scale

A3 NOT Scale: 13

UNLESS OTHERWISE SPECIFIED: DIMENSIONS ARE IN MILLIMETERS

0.5 0.5 mO.S 0.5 ZO.S VRaZ!.Z

ANGLES IN DEGREES - TOLERANCES +0.2mm +0.5° - BREAK ALL EDGES

Wiper Drive unit 24V WD<20

Drawn by : MB

Part No./Note : XA2166.30 - 223BD

Drawn date : 23-5-2018

Customer

Checked by :IM

Reference

%‘6 Sheet : 2-2

Modified by

Weight inkg :2.38

Modified date :

Material

: Material <not specified>




	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View6
	Drawing View13

	Sheet1(2)
	Drawing View12


